=p =
@ AHHEE
(BEfz:A)
} ) ) BA4L- AfLBEF| FR0ETA198  FET9EE55%
ALEE |[FRIVFEEHEINLEHKIIBRIGREERS -
4L - A+LIZFR KETELIRESE
=3 T t4EETDIEEIGA AFLFERI EGFARIERFTERALL
= %10 (EEAFL) £ 2[q i FEME (Fik)
= AR EFE EfE=
= ez &% ez &% ez &% 2,379, 000
1 | RAMEXMILEERR 3 1,800,000
2 |ZEEEMWE AFULUM—ILIEA UV E—] 6 2,200,000
3 |ERLUTA7MERILXZIE 5 2,050,000
4 |ET- 1 1,314,000
5 |#R= APEIIE= 7/12 $BfE 2 HE
6 |2 @) 3 1,800,000
7 [BTLY A 2 1,700,000 .
. EELEIZ100H D8
8 |ERmTUr 7 3,077,400 l:*ﬁ%?é%ﬁ%hﬁ%b
f-&2EMNREHELDER
%ﬁﬁ(:%éﬁi*ﬁ’@aﬁ




@ AHHEE

(B H)
aips |FROFERAAAELAREES AREGOVOERLH [P AMARK) THROFIANE TRk
i B4L- AFLIB T LT ap—
BRI £ ER DS BT AHLIER B Gt — IREE S A AL
= = 1@ (EEAAL) Eom By ] B (BiR)
& A EE e
= g iz £%8 g iz £%8 g iz £%8 12, 405, 000
JIOERITE#HILEXE 1 13,230,000] 1 13,190,000 é 12,400,000 [FE= 2249
B =
KiE£ZEIZ1007 D8
[CHEL T BEEEMEL
-E£BEARIHELDR
%5&«7%(:1%61@%’635




€) AREE

(B4 )
_ . _ BAfL- AALBBF| FR0ETA248  FATIEF405
AR |[TERIOEETKEERAMNITRADAVNEEERET -
EA4L - A $LIGFR KETEBIREE
FEIBFR t4EBTH AFLTER BLEGrRAR — AR F AL
= % 1E (EEAR) % 2@ ] FEMIE (Fik)
= AW EE ioE
= g 452 £%8 g 452 £%8 g 452 £%8 16,570, 000
1 =1 2 17,000,000
2 A/ N RAL K E %! 16,000,000
3 . s Zs 7/19 #BfE2E
4 (BARKIFZETHER 24t 3 22,000,000
5 MERREETEFATERI 1t 4 26,000,000
6 | B A iaRRI St 7/ IHEREZHE
=
EEEEEEIZT100H9MDS8
(CHEL T BEEEMEL
t-2sEMNLEHA ED®
%ﬁat%ém%f&




